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Part One : Speaking (Items 1 — 15)

Choose the best answer.
(Items 1 —5)
1. A: Ireally want to buy a new computer.
B: What? Just an hour ago we were complaining that you have been
1. up and away 2. on and off

3. down and out 4. back and forth

2. A: Why is it your favorite fiction?

1. I’'m a dependent 2. T'have a good idea

3. I can’t resist its mystery 4. 1don’t think much

B: 1It’s up to you?
1. Have you thought about what I have said
2. Where did I go wrong
3. How about some more drink
4. Why on earth would you go there
4. A: Did you tell the doctor you are cancelling the appointment?

B: No. ?

A: Of course. People expect you to call them when it is necessary to cancel the

appointment.
1. Should I 2. Would I
3. CouldI 4. May |

5. A: 1 wish Susan would talk to me.
B: I know. . All these problems are from a little misunderstanding.
A: Maybe she will call me again soon.
1. It’s hard to forget 2. It’s a shame
3. It’s necessary to do 4. It’s impossible

Y v o ¢
6 NINHIAN 2555 NHYIOINHY 0.950A FIUHINY




Items 6 — 10

10.

T o> W o> W o> T

: Good morning sweetheart. Did you sleep well last night?

: Hey, Dad. Actually,I 6

: Why is that?

. Ifeelstressed 7  final exams next week.

: Why are you worried? You are an excellent student. Haven’t you been studying?
: Yes. It’sjustthat 8 . Thereare somanyrules 9

: That was one of my best subjects. Let me know if you need help.

: Thanks, Dad. I have a study session later in the week. 10, I’ll ask you.
. hardly slept at all 2. slept like a log
wanted you to wake me up 4. had so many good dreams
. along 2. about
around 4. awhile
. physics is so difficult 2. I'like my English course more
. mathematics is easier this term 4. my chemistry teacher isn’t friendly
. to repeat 2. to return
. to rearrange 4. to remember
. What if T attend the concert 2. Even if the text is so confusing
. If only there is a tutor waiting 4. If I have any questions after that

Part Two : Vocabulary (Item 16 — 30)

Items 16 — 20 : One doesn’t belong.

Three of the words in each group relate to each other somehow. Choose the word that does not

belong with others.

16. 1. chubby 2. stout
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3.

obese 4. meager




17. 1. merciful 2. savage

3. benevolent 4. compassionate
18. 1. vulnerable 2. helpless

3. susceptible 4. immune
19. 1. supposition 2. contingency

3. presumption 4. hypothesis
20. 1. rage 2. wrath

3. felicity 4. anger

Item 26 — 30 : Meaning in context

Choose the best answer to make the sentences meaningful.

26. People won’t give their opinions during meetings in case they are wrong. They don’t want

to
1. do an about face 2. lose face
3. face to face 4. keep a straight face
27. Children themselves and upset other people.
1. mislead 2. misplace
3. misbehave 4. mismatch

28. Companies that try to reduce spending on customer service may find it difficult to

all the complaints from customers.
1. manage...opposed 2. handle...dissatisfied
3. improvise...frustrated 4. consider...embarrassed
29. When robots are safe and aware of their , they will be widely used and will start
to take on tasks such as playing the violin.
1. assignments...simple 2. navigation...proper
3. movement...undemanding 4. surroundings...complicated

Y v o ¢
6 NINHIAN 2555 NHYIOINHY 0.950A FIUHINY 4



30.

A dam was built across the river and the result used as a drinking water until
recently, when oil spilled from a tanker and made the water
1. vessel...filthy 2. basin...hygienic

3. supply...disinfected 4. reservoir...unusable

Part Three : Structure and Writing ( Items 31 —45)

Items 31 — 35: Read the following statements and choose the underlined part that is

31.

32.

33.

34.

35.

grammatically wrong.

A firefighter has just crawled (1) across the (2) smoke—filled attic, trying to open a

window for (3) ventilating, but no one (4) can find him now.

(1) Environmental experts claim that (2) Planet Earth is steadily warming up (3) because

of human activities, and the developed world is (4) primary responsible for this.

I (1) was staring at my computer screen, which was (2) as blank as my (3) mine, wishing
that some brilliant idea would pop into my head, and render me capable of producing (4) a

thousand-word essay.

The hypothesis of (1) the psychological science study was that (2) the more power a

person has, (3) the less capacity he has to take (4) other person’s perspective.

Some anthropologists have proposed that alcohol production (1) may have predated
agriculture; (2) with all, it no doubt (3) stimulated that development, as in many parts of

the world the cereal harvest (4) was largely given over to beer making.

Items 36 — 40 : Choose the best answer to complete the sentence.

36.
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the growth rings of the tiny crystalline structure in the inner ear of a fish reveal
the age of the creature.
1. Fishermen have long known that
2. Itis long known that fishermen see
3. Revealed by fishermen who have known that

4. As fishermen have known for a long time that




37. The benefit to the plants is that the animals disperse the plant’s seeds.
1. allowing animals take their fruit
2. to allow their fruit taken for animals
3. for allowing animals to take their fruits

4. allowed their fruit to take animals

38. It s the season to get outside, the season for new green, new birth and new dreams, and
on a fun—filled nature—touch vacation than our beautiful national parks.
1. 1t 1is better much to take your family
2. you had better take a place for your family
3. place to take your better family must be
4. there is no better place to take your family
39. Experts agree that heavy rain will fall more frequently in a warmer world because higher
temperatures

1. increase the amount of water vapor in the air

2. Dbalance the heavy rainfall events in other places
3. rise sharply causing the cloud to formulate precipitation
4. change the amount of energy that can be stored in the atmosphere

40. Professor Jones is a math genius,
1. so he hasn’t made any changes
2. and he trusts each other without doubt
3. he has a farm on his land, though

4. but Steve cannot make heads or tails of what he has said

Choose the best answer to complete the sentence.

1. Pattaya, Chonburi, is an important manufacturing, travelling, and center.
1. shipping of grain 2. to ship grain
3. grain was shipped 4. grain—shipping
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2. Demographers investigate in specific locations.

1. are there many people 2. how many people are there

3. how many people there are 4. that there are how many people
3. often considered both a science and an art.

1. Navigation is 2. It is navigation

3. Navigation, which is 4. Navigation that is
4. art was a relatively late development in Brazil.

1. Not until dance as a performing 2. Dance was a performing

3. Dance was a performed as an 4. Dance as a performing

5. While travelling in Europe,
1. Jane Adams was stirred by the social reform movement
2. It was the social reform movement that stirred Jane Adams
3. The social reform movement stirred Jane Adams

4. Jane Adams, stirred by the social reform movement

Select FIVE of six sentences [S1 — S6] and put them in an appropriate sequence to form a

meaningful paragraph. Please note that ONE of these choices will NOT be used.

[S1] J.K Rowling is a true wizard, a woman who provides readers with a fantastic world.
[S2] Divorced, Rowling lived on public assistance in a tiny flat with her infant daughter.
[S3] The main Character, Harry Potter, is loved throughout the world, and so is his creator.
[S4] Narnia is based on an English novel like Harry Potter.

[S5] At that time, she had to make full use of all the time, so she wrote Harry Potter and the

Sorcerer’s Stone at a table in a cafe during her daughter’s naps.

[S6] People around the world are crazy about Harry Potter series.
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41. Which sentence comes first?
42. Which sentence comes second?
43. Which sentence comes third?
44. Which sentence comes fourth?

45. Which sentence comes last?

Select FIVE of six sentences [S1 — S6] and put them in an appropriate sequence to form

a meaningful paragraph. Please note that ONE of these choices will NOT be used.

[S1] Macao is one of the neighbors of Hong Kong.

[S2] Hong Kong is found on the southeast coast of China and consists of two hundred and

thirty five islands.
[S3] It rains frequently in Hong Kong.

[S4] For many years Hong Kong was under British rule but recently (1997) the land was given

back to China.
[S5] On average, eighty—five inches of rain falls in a year.

[S6] Due to all the rain, there is very little farmland and over half of the available land is

swampland.

41. Which sentence comes first?
42. Which sentence comes second?
43. Which sentence comes third?
44. Which sentence comes fourth?

45. Which sentence comes last?
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